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P. G. Diploma in Labour Laws and

Labour Welfare

Term End Examination, Jan.-Dec., 2020

Time : Three Hours ]

Paper First
INDUSTRIAL RELATION

[ Maximum Marks : 70
[ Minimum Pass Marks : 18
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Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

1.

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.

GUg—3

(Section—A)
AMenfe faums & sfig™ @ fhas @Ron # fowifora
fopar o e & ?

—
2
A oW N

(@)

In how many stages can the history of an Industrial
Legislation be divided ?

(a) 2
(b) 3
() 4
@ 1
RA GBI & R, 31 & <adl & U 4§ fdeadr
QoA febar e 8 2

(@) favg

(@ R

(@) o
(®) favaen

fall
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According to Indian Culture, who is worshipped as the
God of labour ?
(a) Vishnu
(b) Shiv
(c) Ganesh
(d) Vishwakarma

1920 # ¥MfUT All India Trade Union Congress T UM
3ege b o ?

(31) #HETeAr e

@ G s

(9) el aud X

Who was the first President of the All India Trade
Union Congress established in 1920 ?

(a) Mahatma Gandhi
(b) Pt. Nehru
(c) Lala Lajpat Rai

IR $1¥ FICTd BT T Fel AMd © ?
(a1) faeel

(@) ofd

(@) forar

(@ =

Where is the Headquarters of International Labour
Office located ?

(a) Delhi

(b) London
(c) Geneva
(d) The Hague




5.
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Menfre o afdf M, 1946 T 9 Sfenfie
WMl R AN BN el RIS $HamRal ol 6l
HE

(31) 50 AT 3P

(@ 100 3T 3P

(|) 10 7 Aferp

Industrial Planning Act, 1946 will be applicable to all
such Industrial Institutions where there are a planned
number of employees :

(a) 50 or more
(b) 100 or more
(c) 10 or more

SN AR Sl IS W GReTT U G_A arell
CIBIEDC R

(3) <2 AR

(@) faarg sifefrm

(|) Hfgen Scired aAfefRM, 2013

An Act to provide protection to working women from
harassment :

(a) Dowry Act

(b) Marriage Act

(c) Women Harassment Act, 2013

RTICIvSH g WoldR dTe qHfd & :
(@) ®fcd < &

@ wi el |

(@) wfoffes e |

P.T.O.
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Rylands vs. Fletcher case is related to :
(a) Strict liability
(b) Absolute liability
(c) Vicarious liability
e e 3 59 9™ @ RO H Agaye
AN fear & ?
(31) o =
@) oHIfs =
(@) e =

Labour Jurisprudence has contributed significantly to
the establishment of which Justice ?

(a) Economic Justice
(b) Political Justice
(c) Social Justice
Yulg—q
(Section—B)

59 W 3T R A © °
What do you mean by labour ?

3Nenfires e b1 R 37t g ?

What does Industrial relations mean ?

T GHeA JATIH, 1855 BT W IeTd T o ?

What was the main purpose of the Fetal Accident Act,
18557

¥} BT B /BRIl B FUR W BRI P |

Classify the workers on the basis of work and work
conditions.
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14.

15.

16.

17.

18.

19.
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PR A, 1048 & FTAR T BHBR &
g =gve /9t e dR FE @ A9 /@ qg b T
g7

According to the Factories Act, 1948, what is the limit
of work per hour/per week of adult worker ?

D Hiedrol &7 & 7
What is Collective Bargaining ?
Yig—Yd
(Section—C)
forelt IR o T & F®7 ARHR B 2 2

What are the rights of a registered Trade Union ?

4 v g @ M @ W i |
Explain the rules of Demand and Supply.
B! T4 drelgral § R WE B |

Explain the difference between Retrenchment and
Lockout.

59 gt @1 el v ¥ e 9T 99e § ?

What do you understand by the three party
arrangement of labour relations ?

GIs—5
(Section—D)
RIS 31 TS & Hond RIgr &1 aui HIfog |

Describe the basic principle of International Labour
Organization.

P.T.O.
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NN el & W & fov e dal ol
WL DI |

Explain the essential elements for the establishment of
Industrial relations.

21, GAR el B WL fF yepR fbar S g 2
AT FY B AP G AT B a1 faaro o
T AT ? Ioerd DI |
What are the modes of registration of Trade Union ?
What particulars should be given for registration of a
Trade Union ? Discuss.

22, e AR &1 T 7ed © 7
What is the importance of Industrial Psychology ?

Ylg—g
(Section—E)

23, IOHM URUE W 5 AR & MR Rigr @i
g ?

What is the basic principle of Labour Jurisprudence in
the current context ?

24, FIEMN FY bl HRGAT GEHl IUGH Dl AR
BT |
Explain the Trade Union recognition provisions.

0-6521 50
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P. G. Diploma in Labour Laws and

Labour Welfare

Term End Examination, Jan.-Dec., 2020

Paper Second

AFFECTING CONDITIONS OF WORKERS
AND WELFARE RELATED LEGISLATIONS

Time : Three Hours |

[ Maximum Marks : 70
[ Minimum Pass Marks : 18
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Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.

YUes—3
(Section—A)
JHITGAT o @ fad {5 gIRT @ ol § 7

Who appoints the certified surgeon ?

HATGR AeHR & FYfd g fodl @t sienfis
W ¥ Al @ fea wer fuiRa & 1% g 7
qaTgY |

How many number of labourers have been fixed for
the appointment of the welfare officer in any industrial
organisation ?

FHGR TP ASFIH, 1923 & I “FoIgul” DI
fra arr & oRfa fopar @ 7

Under which section of the Workmen Compensation
Act, 1923 the wages has been defined.

TORI X G URaed i q9M 99 918 I
g 3R 3T 1987 (3 SCC) AMel H fhad TR @t
afeyfl e 63 S & Iua febar & ? 9y |

Explain how many types of compensations are

provided in the case—SCRT state of Gujarat vs. Raman
bhai Prabhatbhai and others (1987) 3 SCC ?

P.T.O.
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TR wHeT fhew wRfRd © 2
To which case is Asiad related ?
frifa e a4 g ?
What are the Controlled Industries ?

TPM TG qINIS RIUART H SRR FHARAl &
A AABT B st &RT § Suafd foar g 2

In which section the weekly leave of the employees of

the shop and commercial establishment has been laid

down ?
A AT WA ARFEE G Ay § uiRg e
T Y

In which year was the Shop and Establishment Act
passed ?

Yus—d
(Section—B)

BREMT AR, 1948 B AT YIS Glderell &
ESIERN

Explain the first aid facilities under the Factories Act,
1948.

MU AT & 3T T F9eTd © ?

What do you understand by Emergency Standards ?
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12.

13.

14.

15.

16.
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iR RT3 Ugfd @ 9aqrsdy |

Explain the method of determination of compensation.
fefoean gfoem aReg & @rf qargd |

Explain the functions of the council of medical

facilities.

I 99 B & 919 |

Explain the area of bonded labour.

IO IO 7§ ?
What is Commercial Establishment ?
grs—y
(Section—C)
THM TG IO AR & Sl ol JHIo-U
¥ e fode gRT SR fooar gfsbar & fovan W ?
e |

Explain the procedure by which the ammendment in
the Registration Certificate issued under Shop and

Establishment Act is done and by whom ?

AT AN B! Yl & ford fbd are bl A
T$ § ? 915 @ aftfd SRR |

Which case has been recognized for the liberation of

the Bonded Labour ? Explain the case.

P.T.O.
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18.
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20.

21.

22.
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“geT T dlerl & figr ot fofey |
Write the maxim of ‘Res-ipsa loquitur’.
BT & foTg SIerT ATl W MY 9 |wETd & °
What do you understand by Extra wages for overtime ?

Yls—q
(Section—D)

GRATD WA R [BeR feal & $R1 HR Bl
I fowR & TarE |

Explain in detail the conditions of the working of

Juvenial on dengerous and hazardous machines.

FHGRI BT Uadx & faaror o ugfa @ foar S
g ? fowR ¥ sasy |

Explain in detail the method by which compensation is

distributed amongst the workmen.

I 3/ Ug(d B e & quid DI |

Describe historical background of the bounded labour

system.

TEMA Qo U@ 9< BN & e W @ s
DI |

Comment about the legal provisions of the opening and

closing of shop.
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Gue—3
(Section—E)
23. JReR AMYHI & el Td Afdedl dl IR | afola
BT |

Describe in detail duties and powers of the
compensation commissioner.

24. 9 o9 ugfy @ SART U4 W B fowR 9
qaTgY |

Describe in detail origin and termination of the Bonded
Labour System.
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Labour Welfare

Term End Examination, Jan.-Dec., 2020

Time : Three Hours ]

Paper Third
Aoyl TG Ao Rel faura

[ Maximum Marks : 70
[ Minimum Pass Marks : 18

el ¥q f -

Yrs—

YUs—¢q

Yrs—YH

L U PHHIB 01 W 08 T A g ITRIT e ¢ |

T gl B SR SRR TS W B ol
01 3 FUiRT &1 U® U &I SR 1 AT
2 UGl /1 qR H S |

L U HHID 09 | 14 TP g ofg IR U ¢ |

el IR U & SR | TAS TN b
fow 21 &d fuiRd €1 yc® 9o @1 W
ST 75 WG] AT ST UST H <Iford |

LU BHIG 15 9 18 TP oY IaNI U 3|

ol O Ul @ SR S| UAd T B
fort 05 3f@ fuiRa 21 "_® U9 & SW
T 150 WG] AT UH U1 H <Iford |

P.T.O.

[2] 0-6523

WGUS—< : U HHIG 19 W 22 TH g oY SR T 2 |

Yus—F

forgl & uol & SR SRR | UAd Yo & forw
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Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.

GUg—3y
(Section—A)

I BRI & oI FHH dd9 BT UL qRAY Afeer

& forg orTwE # & ?

In which Article of the Indian Constitution provides for
equal pay for equal work ?

HREH B GRS § R [fiferd TE © 2
What is not included in the definition of Factory ?

BREMT B GRE ADTH, 1948 @1 fba oRr #
R fram wrar ® 7

In which section is the factory defined under Factories
Act, 1948 ?

W (@%d) @ forg fooa af & amg oof @ o
TR & ?

How many years of age is completed for an Adult ?

IUGH A AR, 1972 DB UNT 4 B IFAR
GHAR] B UG B YIAM fhad a4 & Far [ HR
o & qearq ferar € ?

P.T.O.

10.

1.

12.
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According to Section 4 of the Payment of Gratuity Act,
1972 after the competition of how many years of
service the Employee gets the gratuity ?

[ e @ foodt awT § uRMIie fobar wmam 8 7

In which section the controlled industry defined ?

Ae FHGRI B RIS § R B A G gr |
gRYTfYe @1 T ?

In which section are the terms and conditions of work
in employment for women workers defined ?

ftere @1 FRyfed el omaur for oy 4 2 ?

In which section is the provision related to appoinment
of Inspector ?

Yus—g
(Section—B)

Y Hfeell B TR HIFT |

Define a distressed woman.
JTET ¥ MY T T § 7
What do you understand by Contribution ?

I I7 AGY B IR BHIfTg |

Define Salary or Wages.

BN B YHRI Pl IaTgy |

Explain the types of employees.
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14.

15.

16.

17.

18.
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B T AT AT I 8 7

What do you understand by Deduction ?

U B B folv FEM dd9 @1 fadamr S |

Describe equal pay for similar work.

Yue—¥
(Section—C)

el 59 AR, 1986 31 T@ fawwamel HI a8y |

Explain the salient features of the Child Labour Act,
1986.

[FRiet P18 ? A o ARFRE, 1961 & I
el a1 o 9T iR wda &1 9uiE BT |

Who is the inspector ? Describe the powers and duties
enjoyed by the inspector under the Maternity Benefit
Act, 1961.

SUSH Bl YR o fhar ST € ? SuSH &1 0T

A forRa |

Explain how the gratuity is determined. Write the

calculation of gratuity formula.

Aoy iR & fafdy a1 ®R a1 /sy |

Explain the levels or method of fixation of wages.

P.T.O.
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20.
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22.

23.

[6] 0-6523
Yls—q
(Section—D)
el APl B Sdre v faftd st @ A
AT |

Discuss the constitutional and legal rights of child

labour.

FHEG Al @ g AET d dad B WEe
BHITY |

Explain the Employer’s duty towards working women.

FHIN ufdw A & i drald s &I ATUAT UG
4391 <71 @ wfaddt o fademT B |

Explain the powers of setting up and directing the

Central Board under the Employees Provident Fund.

Rz TRIeRT ¥ 37T /T JEd & ? SHb Bt bl
AT DIV |

What do you think about Controlling Authority ?

Explain the functions of the Controlling Authority.
Yulg—g
(Section—E)
qrd &M (Ufiarer vd faf) sidfE, 1986 & U@
UTGETl I IR I |
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Explain the major provisions of the Child Labour
(Provocation and Exchange) Act, 1986.

24, BTSN AN $ BRI R ol IS ®
AR & TAR R 6l T Yl &l 18y |

Explain the efforts made by the Government to prevent
sexual harassment of working women at the work-

place.
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Labour Welfare

Term End Examination, Jan.-Dec., 2020

Time : Three Hours |

Paper Fourth

PRINCIPLES OF MANAGEMENT

[ Maximum Marks : 70
[ Minimum Pass Marks : 18

el ¥ e

Yrs—

Yrs—9q

Yre—y

L U PHHIB 01 W 08 T 3 g ITRIT e ¢ |

T g b SR AR | TG Y o ol
01 3 FuiRa 21 U U & SR 1 A
2 Il /1 IR QR |

L Ue SHIB 09 W 14 TP g oY STRIY Y ¢ |

fhel IR U & SR | TAS TN b
fow 21 o5 FEiRd &1 9&$ Y¥ @1 W
ST 75 TeS] T ST UST H <o |

LU FAG 15 9 18 Th oY SR U g

el & gl & SR AR | uAd T B
fort 05 3f@ fuiRd 21 T_® U9 & SW
ST 150 W] AT U Ul | I |
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WGUS—< : U HHIG 19 W 22 TH g oY SR T 2 |

GUs—3

forgl & uol & SR SRR | UAd Yo & forw
10 3 fRUiRd €| TP U B IR oI
300 ¥rsal AT S U1 H AT |

L U%T HHG 23 UG 24 oY ST YA & | f

U6 U B SR AN | TAG T B forv
17 3 FUiRT €| TP U &I AR T
600—750 Gl AT 04—05 UST H IO |

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.

YUeg—3
(Section—A)
& U ARG i € |

Management is a Social Process.

GRVARE)
(True/False)

T & 14 Rygrar @1 gfqured o faar ?

Who propounded 14 principles of management ?

ST g # 9fdsy B T SR alel T @

o B UF faaql i vd goaRed AregH g )
I8 URMTT feber & © ?
‘Planning is a prudent economic and systematic means

of taking decision that affect the future in the present.’
Who gave this definition ?

fooie e aifes ufhar 2 (Feg / arrca)

Decision-making is an intellectual process.
(True/False)

HRIGI BIC IUHA B foIg IUFAd B & |
GRVARR)

Centralization is suitable for small organisations.
(True/False)

P.T.O.

10.

11.

12.

13.

[4] 0-6524

o PN B I W B W ERe dw
A B |

......... considered technology to be the key determinant
of organizational structure.

Suctter Rrerd &1 ufcures faas faar g ?

Who propounded Achievement theory ?

“Iqcd U999 $1 TP 9N ¢ fdbeeg TR0 4ay Tl © ' T
P foae faar & 2

‘Leadership is a part of management but it is not
complete management.” Who gave this definition of
management ?

Yrg—q
(Section—B)
STREIAG T E 7
What is responsibility ?
faeiaoT & & T ST ARy |
Write two main objectives of decentralisation.
AR & TG I T § ?

What are the main objectives of motivation ?

TG HT 7 I |

Define communication.

gotc fa @7 § 2
What is Budgetary Control ?



14.

15.

16.

17.

18.

19.

20.
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TG @] TR TR 47 & 7
What is group concept of organization ?
Yig—Yd
(Section—C)
ST TR & el Pl TAEI |

Explain factors of effective communication.

ST B I & {uige da @7 8 ?

What are the determinants of organizational structure ?

for @) faRivaret W geryr sifor |

Elucidate the characteristics of planning.
IS UdEd & Ml Bl Y b g b
XHATRU |

Explain the benefits of scientific management from
nation perspective.

GUS—g

(Section—D)
yqe B Yepfa qer el W Y Sifery | Yee wd
TR ¥ 3R W& BT |

Highlight the nature and limitations of management ?
What is the difference between management and
administration ?

ORI @1 STaUROT T Ufhar & fawga v Hifg |

Describe in detail the concept and process of decision-
making.

P.T.O.

21

22.

23.

24.

[6] 0-6524

RO GRhar R T ? Wl @ AAREHAR B
i &1 Rigrd &1 GHes |

What is Motivation Process ? Explain Maslow’s theory
of need hierarchy.

g B Al foRmearRisT @ favga 9o Sifrg |
Explain in detail theories of leadership.
Yls—g
(Section—E)
YOI R0 @) Yfhar & TaRON B ARAT I |
7Y RIS @IaRe & SleoT 9T 8 ?

Explain the steps in the process of managerial control.
What are the characteristics of effective control
system ?

e T & A= gl &1 9oiF I |

Describe forms of organizational structure.

0-6524 50
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Labour Welfare

Term End Examination, Jan.-Dec., 2020

Time : Three Hours ]

Paper Fifth
PERSONNEL MANAGEMENT

[ Maximum Marks : 70
[ Minimum Pass Marks : 18

el ¥ e

YUs—3

Yleg—¢q

Yre—y

L U FHIG 01 | 08 TP 31T 7Y STRII U & |

T g B SR | TS Y o for
01 3 FuiRa 81 U U & SR 1 A
2 Ui /1 IR QR |

L U% BHID 09 W 14 TP I ofg IINF Y 8 |

el IR U & SR | TAS TN b
fow 21 3@ fuiRd &1 T&d o @1 W
ST 75 WG] AT ST UST H <Iford |

LU FAG 15 9 18 Th oY SR U g

el & gl & SR AR | uAd T B
fort 05 3f@ fuiRd 21 T_® U9 & SW
ST 150 W] AT U Ul | I |

P.T.O.
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WGUS—< : U HHIG 19 W 22 TH g oY SR T 2 |

Yus—F

forgl & uol & SR SRR | UAd Yo & forw
10 3 fRUiRd €| TP U B IR oI
300 ¥rsal AT S U1 H AT |

L U9 HEG 23 UG 24 o ST YA & | fd

U6 U B SR AN | TAG T b foru
17 3 RuiRd €| TP U B IR oI
600—750 3T AT 04—05 U H ST |

Instructions for Candidate :

Section—A : Question Nos. 01 to 08 are very short answer

type questions. Attempt all questions. Each
question carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are half short answer

type questions. Attempt any four questions.
Each question carries 2% marks. Answer each

of these questions in about 75 words or half
page.

Section—C : Question Nos. 15 to 18 are short answer type

questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one

page.

Section—D : Question Nos. 19 to 22 are half long answer

type questions. Attempt any fwo questions.
Each question carries 10 marks. Answer each
of these questions in about 300 words or two

pages.
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Section—E : Question Nos. 23 and 24 are long answer type

questions. Attempt any one question. Each
question carries 17 marks. Answer each of
these questions in about 600—750 words or
04—05 pages.
YUes—3
(Section—A)

FIG Jae TE gRea 2 |

Personnel Management is an approach.

i ST AN BT T © Ol AUl Aladrl Dl
TIT A @ ol TF I W 3 ¢ |

Trade union is a group of people who come to
strengthen their bargaining position.

AMd 9rEE dewiforl Bfda Sag R IR
TChIferll & WY @I TWE el & |

The dimension of the human resource portfolio matrix
do not have the same form as for product and market
portfolio.

Td. R Sl ADeTT Bl YT Ud. 3R, o T &
faeg o foar S waar 2|

HRD audit can also be used against the HRD
department.

ITd-Y5H BRI AT d & Ol Sod Afdd 3R S

ASATHS YT BT +Iefed $d @ |

High performance practices are those that lead to high
individual and high organizational performance.

P.T.O.

6.

10.

1.

12.
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A G (Ao @F & aRen § wufvd fear o
FHAT T IAHM TG AR BT AdHeT Bl AR
WIS & AR eRdl @ Ahed Sl IR I ot
XA |

Human resource planning can be condensed into two
steps : assessing current human resources and
assessing and meeting future resource needs.

a-fafeer afad sfved g 2

Job-specification focuses on the person.

I T IYGRY AT & S 98 U & G DI MR
AT 2 |

A selection device is valid if it measures the same
thing consistently.

Yus—4
(Section—B)
ATd G JaeH b gRaTRd HIvH |

Define human resource management.
HI-faaRoT | M9 R G § 7
What do you mean by Job-discription ?

UGl BT UG IR |

Define demotion.

ATq AT fadrT @l T i |

Explain HRD (Human Resource Development).



13.

14.

15.

16.

17.

18.

19.

20.

21.
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HHIR-HATT FT & ?
What is employee-welfare ?
99 @1 8 ?
What is bonus ?
gus—yq
(Section—C)
g FEET JEET B IeRdl Dl AR Biford |

Explain the objectives of HRM (Human Resource
Management).

- & wiedl B a B |

Discuss the purposes of Job-Evaluation.

URIETT BT SATRIB T 2 7

What is need of training ?

e & S B e AR

Explain the objectives of fringe-benefit.
Ylg—g

(Section—D)

Td. R . (AM9 GORE o) & wed @ g
I |

Discuss the significance of HRD.

T URRAT B IRAT P |

Explain the process of selection.

TR & I~ YBRI & IRAT BT |

Explain the various types of training.

P.T.O.
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22, AOIGNl B YHIFIT I aTel faft da @ € ?
What are the various factors affecting wages ?
Yle—g
(Section—E)
23. Ud. 3R. UA. (M4 99eM Ja=F) o fafi aral o
foeR & =@t SR |
Explain the various functions of HRM in detail.
24, ‘Wi’ B URAIYT BINR | well & A= @i a7 § 2
ST IO B AR DI |
Define ‘Recruitment’. What are the various sources of
recruitment ? Write its merit and demerit.
0-6525 50





